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Amino acids consist of oxygen, hydrogen, carbon and nitrogen atoms. The diameter of each atom when bonded to another

atomis shownin the table below.

atom singlebond /nm doublebond /nm
@) 0.13 -
H 0.06 0.110
C 0.154 0.120
N 0.14 0.134

Using the figuresin the table, the approximate length of one amino acidis 0.7 nm, as shown below.

What would be the approximate length of a dipeptide of this amino acid aftera condensation reaction has occurred?

A.1.0nm
B.1.2nm
C.1.4nm

D.1.6nm

Question 2

Which of the following chemical groups does not bond directly with the central carbon of an amino acid?

A.-OH
B.-NH>
C.-COOH

D.-H

@)

R

H—O0—C—C—N—H

H H

V

N

0.7 nm
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Alllife (except for a few primitive, prokaryotic species) use the same 20 amino acids joined into polypeptides.

Which of the four statements above is not a possible hypothesis for why all life uses the same 20 amino acids?

A. Only the 20 amino acids existed when life began, so all life now uses them.

B. Allorganisms share acommon ancestor, so the link between the genetic code and amino acids sequences is already

fixed.

C. Polypeptide chains join togetherto increase the range of possible functions that they can carry out

D.20 amino acids is more than enough to give a huge, almostinfinite range of characteristics for all life.

Question 4

Which of the following causes fibrous polypeptides to be insoluble?

A.They areverylong.

B. Theirsurface has nonpolaramino acids.

C.They areusually structural.

D.They have more than one polypeptide chain.

Question 5
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Which row of the table best classifies common proteins with differing numbers of polypeptide chains?

One polypeptide chain

Two polypeptide chains

Three polypeptide chains

A Collagen Insulin Haemoglobin
B Lysozyme Insulin Collagen
C Lysozyme Haemoglobin Insulin

D Haemoglobin Lysozyme Collagen
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Question 6
Which of the following words best describes the structure of a large macromolecule (such as a protein) andits final 3-D
shape?

A.Presentation
B. Structure
C. Confirmation

D.Conformation
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Question7

Which of the following statements about the proteomeis correct?
A.The proteomeis the fullrange of proteins that an organism could produce fromits genome.
B.The proteomes of closely related people are identical.
C.The proteomeis usually smallerthan the genome of an organism.

D.The proteome varies during an organism’s lifetime.

[1mark]

For more help visit our website www.exampaperspractice.co.uk


https://www.savemyexams.com/?utm_source=pdf
https://www.savemyexams.com/

Fa]

Exam Papers Practice

Question 8
Which of the following diagrams correctly shows the structure of a dipeptide?
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Question 9
Using the nomogram below, whatis the Body Mass Index of a person of height 1.65 m and mass 130 lbs?
Height (m) BMI Nomogram (Ib) Mass (kg)
—— 22 30
= 40
_— 215 100
- 50
C 2.1
- 60
— 2.05 150 70
=—2 80
— 1.95 200 90
1.9 100
= 1.85 250 1l
= 120
—— 1.8
= 130
—1.75 300
- 140
— KA
= 150
— 1.65
= 350 160
1.6
= 155 170
SEER . 400 180
A .24
B.22
C.20
D.25
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Question10

When using molecularvisualisation software to representlarge biological molecules, which aspect of a macromolecule
would not necessarily be distinguishable?

A.The surface topography (eg. of a cell-surface receptor).
B.Thelocation of the active site of an enzyme.
C.The flexing of amolecule when in aqueous solution.

D.The presence of a cavity to show anion channel through a membrane protein.
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